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M.A.S.O.(M.A.SOCIOLOGY) Previous 

EXAMINATION – MASO-01 

              Foundations of Sociology 

समाजशाğ के मूल त×व 

 

Note: The Internal Assignment has been divided into three sections A, B, and C. Write 

Answer as per the given instruction.   

आंतǐरक मूãयांकन हेतु Ĥæन पğ 'A ','B' और 'C' तीन खÖडɉ मɅ ͪवभािजत है। Ĥ×येक खÖड के 

Ǔनदȶशानुसार Ĥæनो के उƣर दȣिजये। 

Section-A 

(Very Short Answer Type Questions) 

अǓत लघु ऊƣर वाले Ĥæन (अǓनवाय[) 

Note: Answer all questions. As per the nature of the question you delimit your answer in one 
word, one sentence or maximum up to 30 words. Each question carries 1mark  

  4X1=04 

Ǔनदȶश  :  सभी Ĥæनɉ के उƣर दȣिजए   | आप अपने उƣर  को Ĥæनानुसार एक शÞद  , एक वाÈय या 

अͬधकतम 30 शÞदɉ  मɅ पǐरसीͧमत कȧिजए   | Ĥ×येक Ĥæन 1 अंक  का है  

1. (i) What is Community? 

 समुदाय Èया  है ? 

(ii) What is the meaning of Status? 

ĤिèथǓत का Èया अथ[ है? 

(iii) Define Society. 



समाज को पǐरभाͪषत कȧिजये| 

(iv) Who is the father of Sociology ? 

समाजशाèğ के जनक कौन है ? 

 

   Section-B 

(Short Answer Type Questions) 

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 

question carries 4 marks.        2x4=08 

Ǔनदȶश  :   ͩकÛहȣ २ Ĥæनɉ  के उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 200 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 4 अंक  का है | 

2.Give the characteristics of the Society. 

समाज कȧ ͪवशेषताएं बताएं । 

3. Highlight the different causes of Social change. 

सामािजक पǐरवत[न के ͪवͧभÛन कारणɉ पर Ĥकाश डालɅ | 

4 .  State the parts or components of culture. 

संèकृǓत के उपादानɉ या अंगɉ कȧ चचा[ कȧिजये 

5. Discuss the characteristics of Social Structure. 

सामािजक सरंचना कȧ ͪवशेषताओं कȧ ͪववेचना कȧिजये। 

 

Section ‘C’ 

(Long Answer Type Questions) 

Note: Answer any one question. You have to delimit your each answer maximum up to 

800 words. Each question carries 08 marks.               1x8=08 



Ǔनदȶश  :   ͩकÛहȣ 1 Ĥæन के  उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 800 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 8 अंक  का है | 

6. Discuss the different agencies  of Socialization. 

समाजीकरण के ͪवͧभÛन अͧभकरण  कȧ चचा[ कȧिजये। 

7.  Define Social structure and discuss its different types. 

सामािजक  संरचना  को पǐरभाͪषत कȧिजये तथा इसके ͪवͧभÛन Ĥकार  कȧ åयाÉया 

कȧिजये।   

 

 

M.A.S.O.(M.A.SOCIOLOGY) Previous 

EXAMINATION – MASO-02 

              Logic of Sociological Enquiry 

समाजशाèğीय अनुसÛधान का तक[  

 

 

Note: The Internal Assignment has been divided into three sections A, B, and C. Write 

Answer as per the given instruction.   

आंतǐरक मूãयांकन हेतु Ĥæन पğ 'A ','B' और 'C' तीन खÖडɉ मɅ ͪवभािजत है। Ĥ×येक खÖड के 

Ǔनदȶशानुसार Ĥæनो के उƣर दȣिजये। 

Section-A 

(Very Short Answer Type Questions) 

अǓत लघु ऊƣर वाले Ĥæन (अǓनवाय[) 



Note: Answer all questions. As per the nature of the question you delimit your answer in one 
word, one sentence or maximum up to 30 words. Each question carries 1mark  

  4X1=04 

Ǔनदȶश  :  सभी Ĥæनɉ के उƣर दȣिजए   | आप अपने उƣर  को Ĥæनानुसार एक शÞद  , एक वाÈय या 

अͬधकतम 30 शÞदɉ  मɅ पǐरसीͧमत कȧिजए   | Ĥ×येक Ĥæन 1 अंक  का है | 

1.(i)  Define Research  . 

अनुसधंान पǐरभाͪषत कȧिजये। 

(ii) What is  Random Sampling? 

दैव Ǔनदश[न Èया है ? 

(iii) What is meant by ‘hypothesis’? 

 उपकãपना स ेÈया ता×पय[ है ? 

(iv) What is meant by data ? 

तØय  से Èया ता×पय[ है ? 

  

  Section-B 

(Short Answer Type Questions) 

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 

question carries 4 marks.        2x4=08 

Ǔनदȶश  :   ͩकÛहȣ २ Ĥæनɉ  के उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 200 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 4 अंक  का है | 

2. Defin Interview e . Discuss its types. 

सा¢×कार को पǐरभाͪषत कȧिजये। इसके Ĥकारɉ कȧ åयाÉया कȧिजये| 

3. Differentiate between Questionnaire and  Schedule. 



Ĥæनावलȣ तथा  अनुसूची मɅ अंतर èपçट कȧिजये| 

4.   Show the relationship between research and Survey ? 

अनुसधंान एव ंसवȶ¢ण के मÚय सàबंदɉ को दशा[ए ं। 

5.  What do you understand by Standard Deviation? Discuss its characteristics. 

Ĥमाप ͪवचलन से आप Èया समझतɅ हɇ ? इसकȧ ͪवषेशताओ ंकȧ ͪववचेना कȧिजये । 

6.Discuss the types of Observation. 

अवलोकन के Ĥकारɉ कȧ ͪववचेना कȧिजये । 

Section ‘C’ 

(Long Answer Type Questions) 

Note: Answer any one question. You have to delimit your each answer maximum up to 

800 words. Each question carries 08 marks.               1x8=08 

Ǔनदȶश  :   ͩकÛहȣ 1 Ĥæन के  उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 800 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 8 अंक  का है | 

7. What is Social Research? Discuss its various types. 

सामािजक अनुसÛधान Èया है ? इसके ͪवͧभÛन èवǾपɉ कȧ ͪववचेना कȧिजये। 

8. Calculate mean  – 

  माÚय  £ात कȧिजये 

Class Interval           Frequency   

100-200                             08 

200-300         10 

300-400          15  

400-500         25 

500-600         12  

600-700         11 



700-800         07 

800-900         02  
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EXAMINATION – MASO-03 

Indian Social System 

भारतीय  समाज åयवèथा 

              

Note: The Internal Assignment has been divided into three sections A, B, and C. Write 

Answer as per the given instruction.   

आंतǐरक मूãयांकन हेतु Ĥæन पğ 'A ','B' और 'C' तीन खÖडɉ मɅ ͪवभािजत है। Ĥ×येक खÖड के 

Ǔनदȶशानुसार Ĥæनो के उƣर दȣिजये। 

Section-A 

(Very Short Answer Type Questions) 

अǓत लघु ऊƣर वाले Ĥæन (अǓनवाय[) 

Note: Answer all questions. As per the nature of the question you delimit your answer in one 
word, one sentence or maximum up to 30 words. Each question carries 1mark  

  4X1=04 

Ǔनदȶश  :  सभी Ĥæनɉ के उƣर दȣिजए   | आप अपने उƣर  को Ĥæनानुसार एक शÞद  , एक वाÈय या 

अͬधकतम 30 शÞदɉ  मɅ पǐरसीͧमत कȧिजए   | Ĥ×येक Ĥæन 1 अंक  का है | 

 

1. (i)Define  marriage ? 

 ͪववाह को पǐरभाͪषत कȧिजये। 

(ii) Define urbanization. 



नगरȣकरण को पǐरभाͪषत कȧिजये। 

(iii)  Who has given the racial theory of caste? 

जाǓत के ĤजाǓतये  ͧसɮधांत ͩकसके ɮवारा Ǒदया गया है ? 

(iv) Define social change . 

सामािजक पǐरवत[न को पǐरभाͪषत कȧिजये। 

 

  Section-B 

(Short Answer Type Questions) 

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 

question carries 4 marks.        2x4=08 

Ǔनदȶश  :   ͩकÛहȣ २ Ĥæनɉ  के उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 200 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 4 अंक  का है | 

2. Elaborate the characteristics of social class. 

      सामािजक वग[ कȧ ͪवशषेताओं को èपçट कȧिजये ? 

3. Write a note on cultural change. 

साèंकृǓतक पǐरवत[न पर ǑटÜपणी ͧलͨखए 

4.  Discuss the pre-requisites of urbanization . 

नगरȣकरण कȧ पूव[ आवæयकताओं कȧ åयाÉया कȧिजये। 

5.  Define Hindu Marriage. Discuss its aims. 

ǑहÛद ूͪववाह को पǐरभाͪषत कȧिजये। इसके उɮदेæयɉ  कȧ åयाÉया कȧिजये| 

6. Write a note on Industrialization. 

 औधोͬगकȧकरण पर ǑटÜपणी ͧलͨखए | 

 



Section ‘C’ 

(Long Answer Type Questions) 

Note: Answer any one question. You have to delimit your each answer maximum up to 

800 words. Each question carries 08 marks.               1x8=08 

Ǔनदȶश  :   ͩकÛहȣ 1 Ĥæन के  उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 800 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 8 अंक  का है | 

7. Discuss in brief the traditional and changing basis of social stratification.  

सामािजक èतरȣकरण के परàपरागत एवं पǐरवǓत[त आधारɉ कȧ संͯ ¢Üत ͪववचेना कȧिजये। 

8.  Define westernization . Discuss the relationship between urbanization and westernization . 

 को पǐरभाͪषत कȧिजये। नगरȣकरण एव ंपिæचमीकरण  के मÚय सàबÛधो कȧ ͪववेचना कȧिजये| 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

M.A.S.O.(M.A.SOCIOLOGY) Previous 

EXAMINATION – MASO-0 4 

Rural Sociology 

 

Note: The Internal Assignment has been divided into three sections A, B, and C. Write 

Answer as per the given instruction.   

आंतǐरक मूãयांकन हेतु Ĥæन पğ 'A ','B' और 'C' तीन खÖडɉ मɅ ͪवभािजत है। Ĥ×येक खÖड के 

Ǔनदȶशानुसार Ĥæनो के उƣर दȣिजये। 

Section-A 

(Very Short Answer Type Questions) 

अǓत लघु ऊƣर वाले Ĥæन (अǓनवाय[) 

Note: Answer all questions. As per the nature of the question you delimit your answer in one 
word, one sentence or maximum up to 30 words. Each question carries 1mark  

  4X1=04 

 

1.(i) Define Caste . 

जाǓत को पǐरभाͪषत कȧिजये। 

   (ii) What is the meaning of Poverty ? 

  Ǔनध[नता  के Èया अͧभĤाय है ? 

   (iii) What is the full form of ‘NABARD’? 



      नाबाड[ का पूरा नाम ͧलͨखए। 

   (iv) Who has introduced the concept of little community ? 

    लघु समदुाय कȧ अवधारणा ͩकसने Ǒदया। 

Section-B 

(Short Answer Type Questions) 

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each 

question carries 4 marks.        2x4=08 

Ǔनदȶश  :   ͩकÛहȣ २ Ĥæनɉ  के उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 200 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 4 अंक  का है | 

2. Discuss the main causes of poverty in rural India.  

 Ēामीण भारत मɅ गरȣबी के Ĥमुख कारणɉ कȧ ͪववचेना कȧिजये। 

3. Write a short note on Land reform in Rural India. 

  Ēामीण भारत मɅ भूͧ म सधुार पर ǑटÜपणी ͧलͨखए। 

4.Bring out the main functions of caste . 

जाǓत के Ĥकायɟ  को उजागर कȧिजये। 

5. Write a short note on jajmani system. 

जजमानी åयवèथा पर ǑटÜपणी ͧलͨखए। 

 

Section ‘C’ 

(Long Answer Type Questions) 

Note: Answer any one question. You have to delimit your each answer maximum up to 

800 words. Each question carries 08 marks.               1x8=08 



Ǔनदȶश  :   ͩकÛहȣ 1 Ĥæन के  उƣर दȣिजए   | आप अपने उƣर को  अͬधकतम 800 शÞदɉ मɅ पǐरसीͧमत  

कȧिजए   | Ĥ×येक Ĥæन 8 अंक  का है | 

6. Write an essay on Peasant class Structure. 

कृषक वग[ संरचना पर एक Ǔनबंध ͧलͨखए। 

7. Explain the process of parochialization with examples.  

èथानीयकरण कȧ ĤͩĐया कȧ åयाÉया उदाहरण सǑहत कȧिजये। 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 


